

05/07/2021

Page 1 of 1

Vendor Ranking

Letting: 04210507 May 07, 2021 10:30 AM **Call Order:** 003 **Contract:** E4V12-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 42762657201 (*)

Contract Desc: PALM BEACH COUNTY TREE TRIMMING - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$33,380.00	100.00%
2	INNOVATIVE ENVIRONMENTAL SERVICES, INC.	Responsive	Non-Winning Bid	\$95,520.00	286.16%
3	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$133,450.00	399.79%
4	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$268,210.00	803.51%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$320,216.00	959.30%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 06/01/21 BEGIN TIME: 10:30 AM END DATE: 06/04/21 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the budget amount of \$150,000.00 and not the contractors bid. There is no guarantee of minimum or maximum amount to be issued under this contract.



Page 1 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 04210507 May 07, 2021 **Call Order:** 003 **Contract:** E4V12-R0

District: District 4 Counties: PALM BEACH Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42762657201 (*)

Contract Descr: PALM BEACH COUNTY TREE TRIMMING - ROUTINE MAINTENANCE

The work under this Contract Consists of tree trimming and removal of non-desirable trees and brush from primary state

roads in Palm Beach County, FL.

MAXIMUM LIMITING CONTRACT: The award amount and the contract performance bond shall be based on the maximum limiting budget amount of \$150,000 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

	No / Item ID A	Alternate	Quantity Units	(1) T & M LA\ SERVIC		(2) INNO	AL SERVICES,		IRONMENTAL,
	dicates item is bid as Lui	mp Sum	511115	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TR	REE TRIMMI	NG AND REMOVA	L (MH				
0005 CLEAR	E110 2 ING & GRUBBING		5.000 AC	100.00000	500.00	500.00000	2,500.00	1,500.00000	7,500.00
0010 TREE F	E580332 20 REMOVAL (LESS TH <i>A</i>	AN 4")	100.000 EA	1.00000	100.00	10.00000	1,000.00	15.00000	1,500.00
0015 TREE F	E580332 21 REMOVAL (4" TO 12")		100.000 EA	10.00000	1,000.00	200.00000	20,000.00	25.00000	2,500.00
0020 TREE F	E580332 22 REMOVAL (13" TO 24	")	100.000 EA	10.00000	1,000.00	20.00000	2,000.00	50.00000	5,000.00
0025 TREE F	E580332 23 REMOVAL (25" TO 36	")	30.000 EA	10.00000	300.00	20.00000	600.00	100.00000	3,000.00
0030 TREE F	E580332 24 REMOVAL (37" TO 48	")	30.000 EA	10.00000	300.00	20.00000	600.00	100.00000	3,000.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 04210	507 Mav 0 ⁻	7, 2021	Call Order: 003	Contract:	E4V12-R0
-----------------------	------------------------	---------	-----------------	-----------	----------

Letting	g : 04	4210507	May 07, 2021	Cal	Order: 003		Contract:	E4V12-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) T & M LAV SERVIC		(2) INNO	AL SERVICES,		IRONMENTAL, IC.
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0035 TREE R	E580332 25 EMOVAL (> 4	8")	30.000 EA	10.00000	300.00	20.00000	600.00	250.00000	7,500.00
0040 TREE A	E580332 99 ND BRUSH RI	EMOVAL	30.000 AC	100.00000	3,000.00	500.00000	15,000.00	900.00000	27,000.00
0045 PRUNIN 4")	E580336 IG AND TRIMI	MING (LESS T	30.000 HAN EA	80.00000	2,400.00	30.00000	900.00	15.00000	450.00
0050 PRUNIN	E580336 1 IG AND TRIMI	MING (4" TO 2	30.000 4") EA	80.00000	2,400.00	200.00000	6,000.00	25.00000	750.00
0055 PRUNIN	E580336 2 IG AND TRIMI	MING (> 24")	30.000 EA	80.00000	2,400.00	25.00000	750.00	50.00000	1,500.00
	E580336 12 SHEARING > HEIGHT	•0' TO 15' WID	40,000.000 TH LF	0.10000	4,000.00	1.00000	40,000.00	0.86000	34,400.00
	E580336 13 R SHEARING > ER THAN 20' H		35,000.000 TH LF	0.10000	3,500.00	0.01000	350.00	1.00000	35,000.00
0070 PRUNIN	E580336 14 IG AND TRIMI	MING (PALMS	174.000) EA	70.00000	12,180.00	30.00000	5,220.00	25.00000	4,350.00



05/07/2021

Tabulation of Bids

Page 3 of 6

Letting:	04210507	May 07, 2021	C	all Order: 003		Contract:	E4V12-R0	
Line No / Item		ate Quantity Units	\ <i>\</i>	AWN-FENCE ICE INC	\ , ,	OVATIVE TAL SERVICES,	` '	IVIRONMENTAL, INC.
•	is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	NC. Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	(TREE TRIMMI	NG AND REMOV	AL (MH				

0001 TREE TRIMMING AND Section Totals: \$33,380.00 \$95,520.00 \$133,450.00

REMOVAL (MH)

Contract Grand Totals:	\$33,380.00	\$95,520.00	133,450.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 04	4210507	May 07, 2021	Cal	l Order: 003		Contract:	E4V12-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) MIDW CONSTRUC		(5) SUPERIOR L & LAW			
() inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMI	NG AND REMOVA	AL (MH				
0005 CLEAR	E110 2 ING & GRUBB	ING	5.000 AC	1,500.00000	7,500.00	4,400.00000	22,000.00		
0010 TREE R	E580332 20 REMOVAL (LES	SS THAN 4")	100.000 EA	100.00000	10,000.00	28.00000	2,800.00		
0015 TREE R	E580332 21 REMOVAL (4" 7	ГО 12")	100.000 EA	300.00000	30,000.00	89.00000	8,900.00		
0020 TREE R	E580332 22 REMOVAL (13"	TO 24")	100.000 EA	400.00000	40,000.00	288.00000	28,800.00		
0025 TREE R	E580332 23 REMOVAL (25"	TO 36")	30.000 EA	450.00000	13,500.00	388.00000	11,640.00		
0030 TREE R	E580332 24 REMOVAL (37"	TO 48")	30.000 EA	500.00000	15,000.00	488.00000	14,640.00		
0035 TREE R	E580332 25 REMOVAL (> 4	8")	30.000 EA	550.00000	16,500.00	688.00000	20,640.00		
0040 TREE A	E580332 99 AND BRUSH R	EMOVAL	30.000 AC	1,500.00000	45,000.00	3,880.00000	116,400.00		
0045 PRUNIN 4")	E580336 NG AND TRIMI	MING (LESS T	30.000 HAN EA	65.00000	1,950.00	25.00000	750.00		





Tabulation of Bids

Page 5 of 6

Letting	: 04	4210507 №	lay 07, 2021	Cal	l Order: 003		Contract:	E4V12-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) MIDW CONSTRUC		(5) SUPERIOR L & LAW			
() indi	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (TREE TRIMMI	NG AND REMOVA	AL (MH				
	E580336 1 G AND TRIMI	MING (4" TO 24"	30.000) EA	85.00000	2,550.00	44.00000	1,320.00		
	E580336 2 G AND TRIMI	MING (> 24")	30.000 EA	100.00000	3,000.00	89.00000	2,670.00		
		•0' TO 15' WIDTI	40,000.000 H LF	0.90000	36,000.00	0.79000	31,600.00		
POWER	E580336 13 SHEARING > R THAN 20' F	∙0' TO 15' WIDT⊦ HEIGHT	35,000.000 H LF	1.15000	40,250.00	1.44000	50,400.00		
	E580336 14 G AND TRIMI	MING (PALMS)	174.000 EA	40.00000	6,960.00	44.00000	7,656.00		
000		MMING AND Section (MH)	ction Totals:		\$268,210.00		\$320,216.00		

Contract Grand Totals: \$268,210.00 \$320,216.00



05/07/2021

Tabulation of Bids

Page 6 of 6

Letting: 04210507

May 07, 2021

Call Order: 003

Contract:

E4V12-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.